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SAMPLE PAPER 7: PAPER 1

QUESTION 5 (25 MARKS)
Question 5 (a)
fl(x)=y=ax’ +bx+c

(0, 6) € f'(x) = a(0)* +b(0)
Sc=6

+c=6

(1, 0) e f'(x) = a(l)’ +b(1)+6=0

c.a+b=—6...(1)

3, 0) e £'(x) = a(3)’ +b(3)+6=0

5.9a+3b=-6
3a+b=-2....(2)

2)-1):2a=4=a=2
2)+b=—6...1)=b=-8

() =y=2x"-8x+6

Question 5 (¢)
f(x)=y=2x"-8x+6
f"(x)=4x-8
f"(x)=0=4x-8=0
Lx=2
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Question 5 (b)
Local minimum at x = 3 as Z—y =0 and the
x

slope is positive.

Local maximum at x =1 as % =( and the
x

slope is negative.
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Question 5 (d)

Q=2x2—8x+6

dx
y=2x-4x"+6x+c
x=0,y=0=c¢=0

Ly=f(x)=23x"—4x* +6x
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Question 5 (e)

f(x):%x3—4x2+6x
F3)=2(3)-4(3)+6(3)=18-36+18=0
Local minimum: (3, 0)

FO)=20) -4 +6(1)=2-4+6=4
Local maximum: (1, £

f(D)=2(2) ~4(2* +6(2) = -16+12=*

Point of inflection: (2, %



